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Frequently, when setting up benefit accrual rules for managing allowances/accruals, it is imperative that we
establish it with respect to the employee's seniority, where an employee's allowance of hours/days for a
specific absence code (say vacation) will be calculated according to his seniority.

For instance, when the balance calculation mode is set to Lump sum less utilization the employee actually
gets the "whole" amount i.e. if for a certain year he worked the full 12 months (in other words was hired on
January). When an employee works for a firm more than a year there is no significance to its hire date
month but in the first year he will only get a proportional value out of the total 80 hrs. (See table below).

Seniority Month Hired Group 2
(Wi (Exempt Office/Sales
Staff)
Vacation
(Hours)
First Year Jan (12 Months) 80
Feb (11 months) 73.33
Mar (10 months) 66.67
Apr (9 months) 60
May (8 months) 53.33
Jun (7 months) 46.67
Jul (6 months) 40
Aug (5 months) 33.33
Sep (4 months) 26.67
Oct (3 months) 20
Nov (2 months) 13.33
Dec (1 month) 6.67
1 Years 80
2-4 Years 80
4-5 Years 120
5-10 Years 120
10+Years 160

To set up such BA rule, the month of hire is added as an additional allowance factor which is checked once
the seniority of an employee is less than a year.

Thus the original factor (calculation of seniority) is split into two separate factors: seniority (year) and
seniority (month).
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Benefit Allowance Factors E]|E|E|
B enefit Groups Abzence Code
|2 j | Exempt Office/S ales Staff Group Selection |2 j | Wacation [Hourly]
Employes Bazed Factors T Attendance Bazed Factors
Factor Mame E xprezzion Rezult Type Factor Effects
B |1 |Seniority [year] [JULDATE[EMDPP- «o.| Decimal Autamatic Allowance
2 | Seniarity [month af kirg] | Month(EMPLOYEE->HIRE_ |nteger Autamatic Allowance

3 | SalamHourly EMPLOYEE->PayYROLL_ |nteger Autamatic Allowance
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The first factor (seniority year) calculates the seniority — it is the basic formula always used for calculating
seniority: (JULDATE(ENDPP())-JULDATE(EMPLOYEE->HIRE_FROM))/365
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The second factor kicks in right after seniority is calculated, it simply checks the employee's month of hire:
Month (EMPLOYEE->HIRE_FROM).

As a result t an additional column is added to the accrual definitions table. You now have seniority (year) and
Seniority (month of hire).

Lavie TimeTECH, LTD. 2 April-16-2008



TKSQL Setting Seniority Rules in BA - Example
JULY 2008 L

Accrued Value Based upon Factors

Abzence Group Abzence Code
|2 j |E:-:em|:ut OfficesS ales Staft Browsze ... |2 j |"-"au:atiu:un [Hourly]
Autornatic Allowance T T
Seniority [year] Seniority [month of hirg] S alanHorly Aocrual 1=
From To From To From To
M| 1 |0.00 053 1 1 1 1 a0.00
2 (000 053 2 2 1 1 7333
3 (000 053 3 3 1 1 BE.E7
4 (000 053 4 4 1 1 B0.00
5 (0.00 053 a a 1 1 h3.33
B [0.00 053 G G 1 1 46 67
(000 053 7 7 1 1 40.00
g (000 053 a a 1 1 33.33 -
4 3
= =& AR | @ 1

The calculation goes as follows: If the employees seniority is less than a year (0.00-0.99 under seniority
year) than check what is his month of hire. If the employee was hired on January

(the first row) than he gets the full 80 hrs accrual, if he was hired on February than looking at seniority
(month of hire) from month 2 to 2 he gets only 73.33 hrs and so on.

Since after a year of seniority it does not matter anymore what is the month of hire the entries for seniority
(month of hire) will cover all months i.e. 1-12.

MSIES

Accrued Value Based upon Factors

Abgzence Group Abzence Code
|E' ﬂ |E:-:em|:ut OfficedS ales Staff Browsze ... |2 ﬂ |"-.-"au:atiu:un [Hourly]
Autornatic Allowance T T
Seniornity [vear) Senionty [month of hire] S alary/Hourly Accrual -
From To From To From To
8 |0.00 .99 a g 1 1 3333
9 |0.00 0.99 9 9 1 1 2B E7
10 | 0.00 .99 10 10 1 1 20.00
11 | 0.00 .99 11 11 1 1 13.33
12 | 0.00 0.99 12 12 1 1 B.E7
121100 3499 il 1z il il 2000
14 | 4.00 999 1 12 1 1 120.00
15 [10.00 9359933.00 |1 12 1 1 160.00 -
o | v
2=l =S E vl v B @ 2
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To make sure that the definitions are properly set, delete ABSTRX and ABSFOLOW records, summarize
periodic calculations you will get proper results. For example if the employee was hired on 02/11/2008 he

will get 73.33 hrs.

Employes : 9933 Test Test

'ear Ahzence Code P ayp-Period B alance [Hours] Presviouz Balance Total Uzed [Hours] Tr

Tvpe [Howirz] .

L 2008 2 “acation [Houwdly] 2 E3.31 FRERCK

| 2008 3 “acation [Salany] 2 N

| |2008 4 Sick 2 127 4800
< |

d:ha,,| ABSTR= [Benefit Accrual Tranzact

e Employes Abzence Code Walue Date | Update Date Fay-Feriod Tranzaction Type Ju

M.
| 3933 & Wacation [Howly] | 01/01/2008 | 0F/21/2008 | 200801 Allowance a043
| » [5559 2 Wacation [Howly] | 08/02/2008  0F/21/2008 200816 Allowance a01 3
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